@ %) i Moltiplica i decimali per 10,100,1000
5 —

Nome: Data: Punteggio:
9,352 x 1000 = 7,995 x 1000 =
5,279 x 1000 = 1,59 x 1000 =
1,378 x 1000 = 5,709 x 100 =
2,048 x 10 = 1,576 x 100 =
9,74 x 10 = 5,135 x 1000 =
9,813 x 10 = 2,859 x 1000 =
6,906 x 1000 = 3,585 x 100 =
9,357 x 1000 = 6,281 x 100 =
5,044 x 1000 = 1,988 x 100 =
6,577 x 100 = 8,452 x 10 =
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@% ‘ Moltiplica 1 decimali per 10,100,1000
5 o

Nome: Data: Punteggio:
9,352 x 1000 = 9352 7,995 x 1000 = 7995
5,279 x 1000 = 5279 1,59 x 1000 = 1590
1,378 x 1000 = 1378 5,709 x 100 = 570.9
2,048 x 10 =20.48 1,576 x 100 = 157.6
9,74 x 10 =974 5,135 %1000 = 5135
9,813 x10=098.13 2,859 x 1000 = 2859
6, 906 x 1000 = 6906 3,585 x 100 = 358.5
9,357 x 1000 = 9357 6,281 x 100 = 628.1
5,044 x 1000 = 5044 1,988 x 100 = 198.8
6,577 x 100 = 657.7 8,452 x 10 = 84.52
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